GSE Geometry                                     
Unit #1 - Transformations                                       Review #2

Name: ____________________________________                   


Date: _______________                    
	Use the following to review for you test.  Work the Practice Problems on a separate sheet of paper.

	What you need to know & be able to do
	Things to remember
	Problem
	Problem

	Translations
	· Find the new coordinates by adding/ subtracting the given value.
· Find the pre-image by doing the OPPOSITE.
	1. Translate the following points by the rule: 
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S (-5, 2)(
Y (-4, 5)(
R (-1, 1)(
A (-4, -2)(
	2. Translation: (x, y) ( (x – 2, y – 6)
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	Reflections
	· Reflection over x-axis: (x, -y)
· Reflection over y-axis: (-x, y)

· Reflection over y = x: (y, x)

· Reflections over y = -x: (-y, -x)

· Reflection over any other line: PROTECT THE DISTANCE
	3. [image: image11.png]reflection across y = x
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Reflection over y = x
	4. [image: image12.png]reflection across y = -3
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Reflection over y = -3

	Rotations
	· 90CW/270CCW: (y, -x)
· 180: (-x, -y)

· 90CCW/270CW: (-y, x)
	5. [image: image13.png]rotation 90° clockwise about the origin
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Rotate the figure 90° CW
	6. [image: image14.png]rotation 90° counterclockwise about the
origin
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Rotate the figure 90° CCW

	Dilations 
	· Multiply the coordinates by the given scale factor (k)
	7. Find the coordinates of the new vertices of the image that has been dilated by a factor of 5.
S(-5, 2)(
Y (-4, 5)(
R (-1, 1)(
A (-4, -2)(
	8. Find the coordinates of the new vertices of the image that has been dilated by a factor of 1/2.

W(3, 2)(
C(2, 4)(
T (3, 5)(
Z (5, 2)(

	Glide Reflections and Combinations of Transformations
	· Glide Reflection: Translation and Reflection
· Rotation and Reflection

· ORDER IS IMPORTANT

· Use the previous ordered pairs to do the next transformation.
	9. Given the points
M (-3, 1)    S (5, -2)

Translate: (x – 3,  y + 2)

Reflect: y = -x
M’ (
S’ (
M’’ (
S’’ (

	10.  Given the points

    K (0, -4)     P (-6, -3)     R (1, 2)
Reflect: over the x-axis
Rotate: 270 CCW

K’ (
P’ (
R’ (
K’’ (
P’’ (
R’’ (

	Properties of a Parallelogram
	· Opposites angles are congruent
· Consecutive angles are supplementary

· Opposite sides are equal

· Diagonals bisect each other
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	Angle Addition Postulate
	· 
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